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PARALELL INTERSECTING SKEW



DISTANCE OF POINT&LINE (BY VECTOR):

DISTANCE OF PARALLEL LINES

DISTANCE OF SKEW LINES

BINARY NUMBER (8 BIT EXAMPLE)

N

Integer

b7

be| bs| ba|bs

b2| b1

bo

Floating Point Number

S |e2|e1|eo|S3|S2|S1|So
L 1 1

sign  exponent significand
EXERCISE

DISTANCE OF POINT & LINE (BY FORMULA)

Line : X O = y-Q = £-Q:
a b C

Point: p = (px, py, P2)

when X = px-Qx y’ = py-Qy Z = pzQ:

d= \/ (b2 + c2) x’2+(c2+a2)y’2+(a2+b2)z’2-2abx’y’-2bcy’z’-2caz’x’

a2+ b2 + 2

b7x2" +bex26 +bsx25+bax24+b3x23+b2x22+b1x2"+ box2°

(1"

X(1+83x1/2+s2x1/22+s1x1/28 +s0x 1/2¢)x2 (82X 22+ €1x2+eo-3)

N

1 Draw skew lines and the short- 5

Two Curve” tool.

est line between them without
using “Minimum Distance Line”
tool nor “Line Perpendicular to

2 And make two parallel planes
on which each skew line lie.
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